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IMPORTANT NOTES

~

(A) Please fill up the OMR Sheet of this Question-Answer Booklet properly before answering.
TR Q! B 0 & i ¥ I8 ST ToT 311 UH, 3R, U5k i Hel TR W W |

(B) The gquestion paper is divided into different unit and parts. The number of questions to be attempted and their
marks are indicated in each unit and parts.
-7 fabr= gfve o o o fonfee & 1 ve® gfae wd ur § @ TR S ot e @) den ai 3 3w 39
e el v 3 e PR

(C) Attempt answers either in Hindi or English, not in both. For Language Papers, answer in concerned language
and script, unless directed otherwise to write in Hindi or English specifically.

I aiwett o feft o F / Reelt o | . ST F T 1w o we % SR I Gag W 7 fafr A &
feq wTd, 919 a9 o ue fowiw & fag sem & R g s A SR F o 7 ferar mar 2

(D)  The candidates should not write the answers beyond the prescribed limit of words; failing this, marks will be deducted.
It H 37a 3T el v ®t "/ | sifus et foe Tifee | T oot B W e S S E

(E} Please write answers only in the prescribed space of booklet. Do not write any mark of identity inside the Answer
Script {including Paper for rough work) i.e. name, address, telephone number, Name of God etc. or any irrelevant
words other than the answer of question. Such act will be treated as unfair means. The Commission may also
deduct 5 marks from the marks obtained, if Roll Number is not filled correctly on the O.M.R. Sheet.

el it e o St T Qe PR O WA | S G (b SR 2 S i) % S e T ol T A,
et T S 3 R T e A - AR H AW, T, A aR, SaAet % I e 3R B | AT ¥ st
Y, 9 U 30 A A T 1 OO R W AT B SR ST TRM S S S | SR | ST ST, TR W e
T H 0T S T W AT 5 Ik A F 5 37 o S W € |

(F)  Candidates are directed that they should not write {answer} out side the border line in every page. Answer written
out side the border line will not be checked by the Examiner.

anafiat = PR e s & e e giae § geds g oA arEt AR/ aRT wepR e ol 1]
A & Tt fore T2 I ) wime gR S e SR

(G) Ifthere is any sort of ambiguity/mistake either of printing or factual nature then out of Hindi and English version
of the question, the English version will be treated as standard.
Iy et we 7 TRt v Y i TR0 a1 aemeEs weR H AT B & v F ) den sinst w8 @ el
TR T B0 |

(H) The Question-Answer Booklet is provided in a sealed envelope to the candidate. Candidate must sign the
declaration as per directions printed on the envelope and return it to the invigilator.

el t yeraT e Horg fowms § wwe # T E ) anadl Tk W i R Y gge e o1 s
F o 3T 3 IR B AIH |
(1)  Candidate should fill up all desired details on this attached OMR sheet of Question-Answer Booklet with blue

ball point pen. Please ensure that this OMR Sheet is not torn or damaged.
WQ‘FSHT F IR Yo T AN IEIR. T W 9t Fifed o fidt St U7 T FeveEs W | Em=

7@ 5 98 31009, T T B T T avear Rl oft W F arred Té @ |

(J)  This OMR Sheet consists of Two parts, in which some informatioh is pre-printed; remaining details have to be
filled by the candidate.
% IR, T g 9 F w5 &, P sfiug geend gifea € 1 9 = o et @ wel §

(K) If the Question-Answer Booklet is torn or not printed properly, bring it to notice of invigilator and change the
Question-Answer booklet, otherwise the candidate will be liable for that.

I weAeY Qi Sl 8 wel-wel ar afEd ¥, at SR & w ¥ o € aer 3§ 9gerT o, S SE Sifge
Tt T BT |
faviy Atz -
gl g0 AT SR, T3 W Ter o W1 St & 97 SN el i ) el wgang STl & oen 5§ W e v o
ea fae aif ferar s &, ot swah R wyul e ¥ snafier e 9 o v sl 3w fg snadt Sovert @

Special Notes :
If there is any wrong information filled by the candidate or any attempt is made to damage it or any marking as identification
is done, then his candidaturc for the entire examination shall be rejected by the commission, for which he will be liable.
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PAPER - II GENERAL STUDIES & GENERAL KNOWLEDGE
(Total 200 Marks)
(Total 43 Questions)

Unit -1 (65 Mar_ks)
@z -1 (65 i)
Part-— A Marks : 20
WFT — 3 3 20
Note : Attempt all questions. Answer the following questions in 15 words each. Each question

carries 2 marks.

A Tt Uyl & I T | T T B IO 15-15 S B S ) U Ue % 2 3 Pl & )

1. Find the number of 5°s in the following number chain such that sum of two digits before
it is not greater than the sum of two digits that follows it.
24593587652150503503
e &Y 7 Her sjEen # U8 A 5 € fAE 3 el o St iRl o A 3T i o1% & 9 37!
& T | S T & 2

24593587652150503503
E

A B ¢ DE
ARTRIg » oac=( ( 9+3 , B> 913 L §+F
Cag46 =2+, Do >4 <0+S  E O4+5 > 0S5
F—o p+2 = o+}

f@%s g & =

2. A particle can complete a circular round in one minute, but it moves half round
clockwise and one-third round anticlockwise successively. Find the time in which the
particle will complete one round.

T U7 T Jarh o T 2 | qU o WA & U5 98 AN 3T o5k Tt ohi fSem § qer o
forers sk wgt ot fawdla feom o =otan & | a7 A9 T S e ag ST T g w5k S |

(DAL g, | Taae 2

Bt SNerrgay 3 amrc (S Bt
| IR U5 i S A £ L

— —  —

— 1
2 5 & 0 ;;z<7"d>\(dr/ )
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3.

Find the smallest integer greater than 1 which is simultaneously a square and a cube of
certain integers.

1 B a1t 5 B R ey Yuries A HIFa S T v 81 Hiaua quiis 1 a1t F 99 &8 |
TITaE 2 B X =~", = &

A= 1S S O

(5=

UXYXYy=f(a A

89L-54L T a2 )

4.

[ =%
In a right angle triangle ABC, right angled at B, prove tha

(AB)’ + (BC)® <(ACY’

s gEeivT st ABC | SivT B gRhivr € | A S 6

AB)? + (BC)? < (AC)?
A( )’ +(BC)” <(AC)

A eh\rol 7(3%’5%? #@L_p@ — frC/L‘O

h\ (#Hﬂolhlm AD,C%" ’SWTFM

b C IR AR e &Fa An '@@37@»

AC>BC, AC>AB @q/

U*o«hr M,‘E{Jm ) T @ &
@)t AC £ RO A = AR C)M)’ﬁ B Upd”

5.

What is the variance of first n natural numbers ?
WOTH n Wighd YEATSH < YEHOT T E 7

Qe WEd AT APC = n(ntl) HAEar ~j(m+f)f,\,,,9
2 _

] ] . 2 ()2

%G@T - I = (%" L) = = (V\_"")L;f— 2 fra\H

>f'+2+ +”@/V\+/ n) ¢ R A2
I~ L\ Z// T{J __»

=

e ) 9 ) GO
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6. If A B and C are three sets such that none is a subset of other. Use the Venn Diagram to

find (A — C) N (C - B)
T A, BT C 01 0% Ao € 5 =18 off 3ot o1 suagqegy 78 € 1 99 3@ % 3ua &

(A-C) (C-B) 9@ i |
AS B, BXC, S N m (2) @

,—9@‘—-9) K//\@—C) Lz, > & [
m5 A m [ A 2N
(P~ [~

NN
T (g1 & B0 (g
7. If “SHANTTI” is coded as A981A4B09. “FORUM? is coded as 6ASA8B1A3 in a certain
code language, then how will “BUILD" be coded in the same language ?

s & ffvag e awr § “SHANTI &t A981A4B09 fer@r Simm 8, “FORUM? &
6ASASBIA3 forar s & @t 341 $e 9w § “BUILD™ &t 41 fot@r ST 2

DULLDS 2 A1 A2 4A A

8.  Find the area of the shaded portion in the following figure.

2 ™ fox 2 sEited 9 o1 896 7 Sitaa |
A F. 9
lli”
A
i\ 1 e]lf_’
2 4” 4”
1 é]”-)
C
1”
v v
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9. In an examination it is required to get 36% of maximum marks to pass. A student got 94
marks and was declared fail by 14 marks. Calcuiate the maximum marks.

ol odien & Il 87 & fou afysan afe & 36% ot SATavaHar & | U fommel =t 94
3 T B & @R S8 14 3l ¥ Tt wifta @Y fear S & | sttt et @t o

i |
X GINE 6 X KB —~ 94 -+14
~ ~75%
oo —
T 2.dDn v
[ ST

\ -

10. An electronic device makes a beep after every 60 seconds. Another device makes a beep
after every 62 seconds. They beep together at 10 a.m. for the first time, then find the time
when they beep together at the earliest.

T SN SUBIT UAF 60 WHUE UvEd UF Gl Il & | T ITH0T Tl 62
QehUg TFT Hit ST & 1 UEelt AR & T SUSTT 10 am. T T H G a9 €, o 96
TG T TG HIE 59 o T T W T |

L0, 62
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Part—B Marks : 25
T - & 25

I

Note : Attempt all questions. Answer the following questions in 50 words each. Each question
carries 5 marks.

Az: qW U o IIS | uvEl o 39T 50-50 VIsSi O ¥ | Ue Uy & S 37 FaiRd §

11. J, K, L. M, N and O arc the members of a family. Professions of all members are
different. If

(1) Family has two married couples.
(i1)) ‘M’ is a doctor and his wife is an engincer
(ii1) ‘J” is grand daughter of ‘O’ and sister of ‘L".
(iv) ‘K’ is grand father of ‘L’ and is married to a teacher.
(v) ‘L’ is aclerk and his mother is “N’.
Then, who is the wife of “M” ?
1,K,L, M, N ¥ O T oiar % 95 § |WW%W&?% | A
(i) viEwR# T faatea gmer & |
(i) ‘M’ uw fafergs & @i g gt ue el &
(i) 7, O B AR T L B TeAL |
(iv) “K’, ‘L’ % SET ¥ o FTob! VIt U AT A g5 ¥ |
(v) ‘L’ U o7 § F 39! 71l N° ¥ |
AT M’ Bl Tl B & 2

e =~y 2 1 N S e e | B o= 10 K 12 P
ybmse: OTTET,—KZ1eT

o HIZ
| Haeic-—- 2 T g
Uk TET HCH W ddGa LR

0 d u @y M & | U AT
EOGT MTET g

&

S RECAT G N A
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12. Iftan®= % n¢=]—%,thenprove:iz =
IS tan 6 = —xm—tan¢=m,ﬁ}ﬁ€ﬁﬁﬁs ==
x ¢os ¢ l1-ycos®© y \
stud = 28t flnd - Y Sine
Cose =X b L5 lﬁ‘d/CQ,&(@"
g\u\m W Qo2 N ATVY) \/‘;“u/c,gg@)
\ A Cf@g ’ T ° = N C
lnd & - % Cag,d \td,_gf,/uq
atu® - ¥ (yCese)Caad
Stwt) Y Q_x cong) ed
Y lutg o@%s@\; <hig (m% X (208l —
0 L‘{_&de)C@&z@"
= SM@ — X
¢y i
"b\V\ a

13. N is a three digit number that is"a multiple of 7, what is the probability that it will be a
multiple of 5 also ?

Nﬂh&ﬁﬂ%%’m@raﬁﬁ%maaﬁms%%ﬁwaﬁﬁwm%?
7 et 4y 1 T T EeUS o
oS, 112 15, 126, 133, --- v~ - Q@Oﬂs%g}

' g

Ty = A+H(n-Dd 5 994 = |pcH{MmDHF

N0 A 142 = 1 )

St BT - |og

05, 190, 2, - - 420y 0= [0SH{m-D2IL

@ﬁﬁi‘—,lé{hﬁ f’\ 8= +(n ~—;)

5
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VX7 R b
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14.  What is the largest integer not exceeding 1000 which leave remainder 3 when divided by
5, remainder 5 when divided by 7, and remainder 7 when divided by 9 ?

1000 & Mf® 7 A, 98 I8 T i e Fan et S 5 @ fonfa s wwwer 3, 7 /@
ferfora =3 o Yawer 5 @ 9 A fawifaa s W SNRe 7 TET R 2

N Sgeur = 5t 2

N = In, + & N, 8= qUgt-+
N = 9\/\,-, + "N = Qe
Swn, 47 = TV) , = C
5}1:w17wn - {'7m =—9mn“él4a

\._./

SN ey, = 4 xf’) ﬁ @m%mé“
S - qaq =) & " |

T

—

15. Mr. X invested money in two schemes A and B offering compound interest 5% and 10%
per annum respectively. If the total amount of interest accrued through both schemes
together in two years was ¥ 2075 and the total amount invested was ¥ 15,000. Find the
amount invested in scheme A.
sita X A g AeEish A iR B # w9 fAae fen st e 5% SR 10% ui%mawqﬁgm
WS I o | T aut F G I SIS g FA AT saT Bt i T 2075 o

A foar mar 59 T 15,000 @ 1 et A ° FEw =t w2 ot s s '/}
AL =S\ x4y H~ro \’L s
60/ ¢
[ /ovwi05\+ ch,x.um \.__Q(jtu)r«%‘?f
(00 [00O {OO ;oq/ S

XKF!OM’+HX!7)W~/!707§)X/W
(X 11026 + | 1S, 000 —% ) X [2.1¢D = | 207K pom

N

XN02E + [ Cguo X[ 2)60 — 12 oD = [707.50000

— 107S% = —]£]5 00000 4+ 707 CO00D
F1079= #3252 250000
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Part-C Marks :
HAT-Y9 AP - 20

Note : Attempt all questions. Answer the following questions in 100 words each. Each question
carries 10 marks.

Te: U % IS ) M ueEl o SR 100-100 ISt H T | Wk weE & 10 37 Fuifa €

16. Two tapes A and B can fill a tank in 5 hrs and 20 hrs respectively alone. If both taps are
opened then it takes 30 minutes more to fill the tank completely due to a hole in the tank.
If tank is completely filled then how much time (in hrs) will it take to get tank empty due
to drain water from hole ?
T TA A T B TH okt Ht HIA: 5 6 qAT 20 B H el W Wehl & | G A1 A @ied T
ST <ot | U 9% o ShITOT SR O R | 30 e A o1 e © |
afg 2ot i it g€ B At 5@ BT H | GR UMl & Fbe W S Ht @rell 81 ° e wee

. (8t B) & 2
7{‘*"1\5@6§: { @——-*) 20 Opr
A
& ST O& § TTel STiotl-
S S L o N Y
A 20 2D 20 4—

AT & — S vt ] - |
a;r T q,*@%%) )T_&f\élf N G ‘ E?zflof
— | < 3D

[
|
_A.._;_

. ' Py
Flo — ) — =9
. l S Kg | nn "']\_g /gr nl -~ IV
= — ) o1 o ey
4/
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17. In an election 10% of the voters on the voter’s list did not cast their votes and 60 voters
cast their ballot papers blank. There were only two candidates. The winner was supported
by 47% of all voters in the list and got 308 votes more than his rival. Find the number of
voters on the voter list.

U A H AR G ° | 10% A 3 S wd @l far g9 60 vasmarst 3 wa o7 o
BT | F8T O el & SHRAR & | oS S mesr gEt B ¥ 47% Tasnst & awe e qur
38 o0+ ufdgg! ¥ 308 Aa 31T W g0 1 e gt | wagrarst @t g wd S

EXGIE="E 0. T EFF’E/AQ@W[

Co = 157, WWW@P%
g?ff?’@q A X ] o -

AU gy agg. O BT
; e D L

{A | X“"O*IX:_Ow
N S N O'—qi'—*éo

ZEAT & dic. = 0.9x—60
A+e = 0.94 —6 0O

A1y = 20F%

0 Ar = 09U —CO4-208

2 [ A xaq \ = 0.9y — ( a4+=\0L
100

g a4x :@ém ORI Roo\Y
- = 2-4-¢ X100
= 62007 >

91
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(Unit-11) (70 Marks)
gf=-m) (70 3i®)
Part— A Marks : 10
WIT — 3F 3 10

Note : Aftempt all questions. Answer the following questions in 15 words each. Each question
carries 2 marks.

AT: WU FIW S | v B I 15415 TR A T ) v U & 2 6 aiiRa §

1. A light and a heavy body have same momentum. Which one will have greater Kinetic
energy ?

T G o T T o 1 Ha g & 1 3 @ Rewat nfost st s @it o
AT M = [t =)
= Uy >
iz S N VEVACEE S A VU S BV R

L ~ 2
‘ NN a A - r']
T I TT oS cbksl TFEFF’SH—UHL = S AU T

- E RGN LN C - e TS T e,

2. How does the density of nuclear matter depends on size of nucleus ? Does the density of

=

atom also follows the same rule ?

Tfenia TeTe 1 B I F SR W R vew it s § 0 T wwE @ e o s6
e 1 urer HEE 2 _

P Q o . N\ N\
Wr AT Lol HATA "I G™H é(‘\l d;I%J
SIAT Emrmﬁﬂ M/U/ o &7 > OL

54161 @M,M 1L :sé,n/f‘cr Adﬂr?ﬂ’g

CRRUATL & @ IA T ﬂ#@ﬁﬁ%aﬁ'
& qul,v\) CDH@ZWI/
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3. What do you understand by “Joule-Thomson effect” ?

STA-SITHE TS @ 319 41 9Hed § 7

- ™
T AT AT 797 ‘4@1@;@:@; e~ aw
W e Mcsﬂow aC Trc/&wmw,}f/dﬁuor

e e e ] e - ngdJ”f 76\ ?HQ
SRS A ST T e TAT &

0
4. Write the name of causal organism and vector of ‘Dengue fever’,
‘I T@R & SN S TI7 THS A6 B 777 i@y |
i W) gt A {\_r
?%k FIRHTSH - AL & (CFF @ﬁirc
~o =T L@ ARYe [

Jes - ot @ LJuLuT:[ v/

5.  What arec umbrella species ? Give an example of umbrella species.

B TSTIAAT &47 € 7 BT YA 1 Teh IR0 AT |

AN o S N O\ >~
d  AATN T ‘Mf! L1 LU TETA
N

™\ S0 N

TNt cxjr AN #,Jf—ot 2 AT Qj/uré;ejw

T R AT E/‘Tyc,réwr @
NN

T T TUPEE O urcw,mworw =




Part-B Marks
- 20
Note : Attempt all questions. Answer the following questions in 50 words each. Each question
carries 5 marks.

e Wl e F I T | v o 39 50-50 ISt 7 ¥ | uelh U & 5 i Freifa €

6.  Write Kepler’s law of planetary motion.
@ﬂﬁr%w#ﬁuﬁﬁ%ﬁﬁm
—_ N o o D o O\
—O& U T OR A GITRGATFTE ITTH
[N ~ )
b(ﬂf&/
AN AN N
&Gféj:;HT a 141 ﬁ/_lé/d_ HI T o
- AN , O
IV P Ee B NN S 2 5+ Lo 3 R~ o M~ A oY O RoA s B
N NA
S ATk ST &
N
HTA @«LNI F S vt du LT o
&MH AT e
' Ean % S
?‘%@ﬁgmﬁmg Rkl AaTE AT é)zf‘cr(_
I K==L s S T N = P B ™ R
AN g
LTl @TAT &

7. The concentration of Hydrogen ion in a sample of soft drink is 4.0 x 1073 M. What is its
pH ? (log,,2 = 0.301)
O7 e & A H EES SE I Wt 4.0 x 1073 M & | 35! pH F91 8 ?
(log,(,2 =0.301)

Y
q
3
)
b

-—

PR = H AT BT T AT AHTAwE
— — loa [ 4xigD |
g o~

-—

~

= "A“E’@% + 109; J(Q/
= ] 2leg Y 5 =320

NA ) — VU S - (SO
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8.  Write a note on genetically engineered insulin.

afEfeTeRa: Sfiaita sfem W fewit fafag |

9

o 8 PR Lo T A [N
ST Z AT, T NI S AT

al . O
ZACIEGNr: J—rgaz; uﬂ “Srd=T S5 TA
A N
AT T «QH‘!< ﬁ’ PRI I~y
THTH T, STA T o g'f\ ME]
T oTrae @m X gaTufwr &
wA AN
= @Eﬂ@m &A ST g T T

ma;-»frr = Mf ] ﬂvgﬁfﬂ%?f"fﬁ*ﬁ
U'HFF ‘Qg@)wﬁ Qg\( ﬁgw’i @qu U)

E@d PR T LlJ'f bR L ST

9.  Enlist various trophic levels in an ecosystem and give suitable example of each trophic
level.

us i 9 & fafir o TRl i geies ST qar ves g T % shad Semor T |

DN{TW (‘mef LBl 2, UTCa, ;rré.?r?fdj
N
EUMO%’T, ‘)éc\"JUOLa TUSIA] a g(i o3 Ua

A — : \c—:\\ A \f
ER\N MU L a At CITWUT £y yy

o

&
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NIV

[ N AN

TAUT R m A

Cr,s—uréﬂ“ 294\3‘

DN

AMA‘% :wgﬂof/ﬂ HI A . = em@ ZlL 7y
eu@: =fra = 3’%‘%@@‘@4“% S\W &1
T AT jum %)r_HHr@tdv Z d?ﬁrg‘
;D\‘tr@—éda UgTT“\QT._ dq;}o‘s unu!\gm/
FEATIS, AT TAT 2177 Sysicd %SR [
Part—-C Marks : 40
HT -9 A& : 40

Note :

Attempt all questions. Answer the following questions in 100 words each. Each question

carries 10 marks.

Tz |/l U S | 9 vl & ST 100-100 IS € ) Ui U & 10 3 it §

What do you understand with communication system ? Give block diagram of
communication system and explain its elements.

ToR fm & 39 T wHee € 0 9uR e # st fa 39 g 3 gl it Gueey |

10.

[ /\&)mt CPpy L= Drh%—hy,\i*
C&/‘C@fd’u’?\%) D ’! fD@waUmcgfr)
T e \ -
s

.

s]

=T ‘T;Wra-—ﬁ? AT AL T e, B 40
ol ogfgw r/cgqr QSomog 5;!

I P+ 3 G _ N e

'cgs\agaﬂ urdgcw 5T W A &F IS

N sA N — R NN
N M PR F- 1 S < M R G e g
FARNEN A P \ \D 3

TAS9T T  ATd &




- . LT

N 4 NN W

— = \9
| BB ITYU A & AT TU S &1 & i

- SN N N o S (> >
cTT AT & ] "ShIesd Hb A Teshis T

‘A C™N (™ N NJ o) —;\ JaNA
TETEAT GOT A & | I aoA T o &I

& Ta IA%IERD L\W) LT Se
N N o) AN . NN g
TG AT AT & I3 99— OB 2T &

—

11. Distinguish between conductor, semi-conductor and insulator on the basis of band theory

of solid.
3 % IS TG & SMUR W =, Gl o Harelsh § 48 g 1

NN O . N

ST A4 —drcios QJéﬂW\% I $dleds &b
™ bid \ £ \\

g < ' [ [ LN A B
AEL] AN T TN A BhU S TAT éj/
“;-==-——==’—'—___-—————___

-\
T av=<. E,

-3 1~

\k/ (?JQ}[Ad?Hf S R
LToFZTH IR &ldy AT HNTES )W%Ej’f??
PSRN lh — Ay e \\ ~£) f
@ATT AT @ =TT JIE A GFTA &

e N .
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12.  What are chromosomal disorders in human beings ? Write causes and symptoms of any
two such disorders.
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13. Discuss the Breed Improvement Programme undertaken by the Department of Animal
Husbandry, Government of Rajasthan.
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(Unit-11I) (65 Marks)

@ate-1) (65 3ieF)
Part— A Marks : 10
WIT — 3w 10

Note : Attempt all questions. Answer the following questions in 15 words each. Each question
carries 2 marks.
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1. What are the meteoric lakes ?
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2. What is Epicentre ?
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3.

Which are the areas of India, receive winter rain ?
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4.

Write the names of major non-metallic minerals of Rajasthan.
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5.

What are the male and female literacy rates in Rajasthan as per Census-2011 ?
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Note : Attempt all questions. Answer the following questions in 50 words each. Each question

g CTRR A

Part-B Marks ; 25
AT — & AF: 25

carries 5 marks.
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6.  Explain in brief the location, names and importance of the great lakes of North America.
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7. Describe the ‘Bshw’ type of chmate of India.
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8. Discuss the impact of La-Nina on Indian Monsoon.
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9. Discuss in brief the types and distribution of building stones in Rajasthan. ]
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10. Wné abliut the 1str1t§;1’n and industrial uses of lignite coal in Rajasthan.
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Note : Attempt all questions. Answer the following questions in 100 words each. Each question
carries 10 marks.
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11. Explain the divisions of Geological Time Scale.
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12.  Divide coastal plains of India into sub-divisions and explain their characteristics.
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13. Describe the habitat, economy and society of Bhil tribe in Rajasthan.
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